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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are printed both in English and in Kannada. Doubts
regarding the meaning and translation of Question Serial No. 1 to 80 will be settled
based on the Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1.

In which Sanskrit work the important cities of Medieval Kerala are described ?
A) Mooshakavamsa B) Pradyumnabhyudayam
C) Sukasandesam D) Sivavilasa

Who was the first editor of the journal “The Indian Sociologist” ?

A) Montegue B) Shyamiji Krishna Verma
C) G.G. Agarkar D) R.C. Dutt

“Radical Democratic Party” was founded by

A) M.N. Roy B) A.O. Hume

C) Gopalakrishna Gokhale D) M.G. Ranade

Which organization of the UNO is known as the “Town Meeting of the World” ?
A) The Trusteeship Council B) The Secretariat
C) The Security Council D) The General Assembly

Who among the following historian described the Revolt of 1857 as “Wholly unpatriotic
and selfish sepoy mutiny” ?

A) T.R. Holmes B) Sir John Seeley
C) Lord Canning D) James Outram

Who is the current Secretary General of ASEAN ?

A) Filippo Grandi B) Dr. Agnes Callamard
C) Fernando Arias D) Dr. Kao Kim Hourn
Match List — | and List — Il, and select the correct answer from the options given
below.
List -1 List -1l
Discontinuity Region
a. Gutenberg 1. Crust and mantle
b. Repiti 2. Upper and lower crust
c. Mohorovicic 3. Mantle and core
d. Conrad 4. Outer mantle and inner mantle

A)a-4,b-38,c-1,d-2
B)a-3,b-4,c-1,d-2
C)a-2,b-4,c-1,d-3
D) a-3,b-2,c-4,d-1
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8. Consider the following statements on sedimentary rocks :
1. They contain fossils and remnants.
2. These rocks are very soft.
3. They are made of many layers.
Identify the correct statement(s) from the options given below.
A) 1 and 2 are correct B) 1 and 3 are correct
C) 2 and 3 are correct D) All are correct

9. Which of the following pairs are correctly matched ?

1. Jog falls —  Karnataka

2. Kapildhara falls -  Meghalaya

3. Dudhsagarfalls -  Goa

A) 1 and 2 are correct B) 2 and 3 are correct
C) 1 and 3 are correct D) All are correct

10. Which of the following separates mainland of India from Sri Lanka ?
A) Palk strait B) McMohan line
C) Ten degree channel D) Radcliffe line

11. Which of the following river of Kerala is East flowing ?
A) Pambar river B) Manimala river
C) Chaliyar river D) Kuttiyadi river

12. NASA’s Curiosity Rover recently captured the crepuscular rays on which planet ?
A) Venus B) Mars C) Jupiter D) Earth

13. Which pairs are correctly matched ?

A B
1. SIDBI — Public Sector Bank
2. Munich Re — Re-insurance Companies
3. lIFCL — Financial Institutions
4. NHB —  Private Sector Bank
A) Only 1 and 2 B) Only 2 and 3
C) Only 3and 4 D) Only 1 and 4
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14. Consider the following statements. Which of the statements are correct ?
1. Green Revolution technology is a package of HYV seeds-fertilizers-irrigation.
2. Agriculture price commission was set up in 1965.
3. IAAP was implemented in 1961.
4. M. S. Swaminathan is the father of Green Revolution.
A) Only 1,2 and 3 B) Only 2, 3and 4
C) Only 3,4 and 1 D) Only 4,1 and 2

15. In relation to Goods and Service Tax which of the following are correct ?
1. GST on Milk, Fruits and Vegetables is 5%.
2. A destination-based tax implemented on 18 July 2017.
3. Overcome cascading effect and reduction in multiplicity of indirect taxes.
4. GST council is a constitutional body.
A) Only 1,2 and 3 B) Only 2, 3and 4
C) Only 3,4 and 1 D) Only 4,1 and 2

16. Which of the following are correctly matched ?
A B

1. Harrod Domar —  First Five Year Plan

2. Mahalanobis Model —  Second Five Year Plan
3. Rapid and more inclusive growth Twelfth Five Year Plan
4. D. P. Dhar Model Fifth Five Year Plan

A) Only 1,2 and 3 B) Only 2, 3and 4

C) Only 3,4 and 1 D) Only 4,1 and 2

17. Which of the fact is incorrect regarding economic reforms ?

1. Indian currency was appreciated against foreign in 1991 to overcome the
BoP crisis.

2. Before the deregulation of the Industrial sector, 17 industries were reserved under
public sector.

3. Foreign exchange market, Stock exchange market, Banking and non-banking financial
institutions are a part of fiscal reforms.

A) Only 1 and 2 B) Only 2 and 3

C) Only 1 and 3 D) All1,2and 3
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18. Which of the following is correctly matched ?

A B
1. World Bank — Ajay Banga
2. World Meteorological Organisation—  A. Almandous
3. Confederation of Indian Industries — R. Dinesh
A) Only 1 B) Only 2
C) Only 3 D) All1,2and 3

19. Who among the following was not a member of the Drafting Committee of
Indian Constitution ?

A) B. R. Ambedkar B) K. M. Munshi
C) Mohammad Sadulla D) Jawaharlal Nehru

20. How Atrticle dealing with Amendment of Constitution (Art. 368) can be amended ?
A) By Simple Majority B) By Special Majority
C) By Special Procedure D) None of the above

21. Who can remove the member of a State Public Service Commission ?
A) President of India
B) Governor of the State
C) Chief Minister
D) High Court Justice of the State

22. Which among the following is not a ground to issue ‘Writ of Quo Warranto’ ?
A) The office must be Public
B) The respondent must have asserted his claim to such office
C) Office must have been created under Constitution or Statute
D) Public interest does not hold ground in the case

23. How many items contained in the 11™ Schedule to the Constitution of India ?
A) 29 B) 30 C) 32 D) 34

24. Which of the following Constitutional Amendment introduced anti defection provisions
in the Indian Constitution ?

A) 54" B) 91% C) 86" D) 97"
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25.

26.

27.

28.

29.

Identify the Article which provides protection against ‘double Jeopardy’.
A) Article 19 B) Article 20
C) Article 21 D) Article 22

Which one of the following does not constitute the electoral college for electing the
President of India ?

A) Elected members of Lok Sabha
B) Elected members of Rajya Sabha
C) Elected members of the Legislative Assembly of each State

D) Elected members of the Legislative Council

In the 2022 election of Vice President of India who was the opposition candidate ?
A) Jagdeep Dhankhar B) Rahul Gandhi
C) Margaret Alva D) Yashwant Sinha

Which among the following is true about the Kerala State Disaster Management
Authority (KSDMA) ?

|. KSDMA is a statutory and autonomous body.
[I. Chief Minister of Kerala is the Chairman of the KSDMA.
[ll. The Chief Secretary is the Chief Executive Officer of the KSDMA.

IV. Additional Chief Secretary, Revenue and Disaster Management is the Head of the
Department of KSDMA.

A) LTIV B) I, 1, 11 C) 1,1, 1v D) LI IV

What is true about the Fourth round of Health Index launched by NITI Aayog in 2021 ?
|. Kerala emerged as the top-ranking State in terms of overall health performance.

[I. Tamil Nadu and Telangana are the second and third best performers on health
parameters.

[ll. 2019 — 20 was the reference period for the health index.
IV. The report has been prepared with the technical assistance from the WHO.
A) L 1 B) I, I IV C) LI 1 D) I, IV

-10-
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30.

31.

32.

33.

34.

35.

36.

Which stipulates efficient and time bound delivery of services and redress of
grievances by the government, came into being in the year

A) 2010 B) 2012 C) 2014 D) 2016

During the rule of Karthika Thirunal Rama Varma (1758 — 1798) the Chief Executive
Officer of Travancore was known as

A) Dalwa B) Valiya Kariakkar
C) Valiya Sarvadhikari D) Dewan

Rescue Mission Project envisaged by Kerala State Council for Child Welfare since
2017 to extend assistance to the children in trouble and rehabilitate them properly

A) Thanal B) Ammathottil

C) Swanthanam D) Kaliveedu

The place identified for the establishment of Digital Service Park under Kerala Digital

University
A) Kakkanad B) Thonnakkal
C) Chavara D) Aluva

Name a major pollutant that present in the automobile exhausts which reduces
oxygen carrying capacity of blood in human being.

A) Arsines B) Ammonia

C) Carbon monoxide D) Nitrogen oxide

‘Bioluminescence is a unique property of certain organisms having the ability to emit
light'. Name an organism having the ability of bioluminescence.

A) Plasmodium B) Ctenoplana

C) Wuchereria D) Hirudinaria

Stop codons are very essential for ending translation of mRNA. Pick out a stop codon
from the following.
A) AUG B) UAG C) UCG D) UUG

-12-
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37.

38.

39.

40.

41.

42.

43.

ECG is used for understanding the normal working of human heart. An ECG
consist of mainly three waves namely P wave, QRS complex and T wave in which
QRS complex represents

A) Ventricular depolarisation B) Atrial depolarisation

C) Ventricular repolarisation D) Atrial repolarisation

A pathogen named plasmodium is transmitting the disease malaria in human being.
Write the catagory to which this organism belongs.

A) Bacteria B) Fungus

C) Roundworm D) Protozoa

Small quantities of mercury placed on a clean glass plate assume spherical shapes.
The reason behind this is

A) Viscous force B) Surface tension

C) Buoyant force D) Capillarity

Arrange microwaves, ultraviolet rays, radio waves and infrared rays in the ascending
order of their energy.

A) microwaves < ultraviolet rays < radio waves < infrared rays
B) infrared rays < ultraviolet rays < radio waves < microwaves
C) radio waves < microwaves < infrared rays < ultraviolet rays

D) radio waves < ultraviolet rays < microwaves < infrared rays

When a body is moved from the equator to the south pole, its weight
A) Increases B) Decreases

C) Remains the same D) Becomes zero

A cricket ball is thrown up making an angle 45° with the horizontal. The angle between
velocity and acceleration, when the ball is at maximum height, is

A) 0° B) 120° C) 180° D) 90°

Which gas is produced when metals react with steam ?
A) Oxygen B) Hydrogen
C) Carbon dioxide D) Nitrogen

-14-
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20T §,3EF WY WOCVTIHT TROTOTRODT 45° BREIVIY, BRELMITH. 0B NOF
DFTTOTOTN Ben B WeNTFF I SBORT Brees
A) 0° B) 120° C) 180° D) 90°

LRETNE LETIDO3RONT 88, CATIIN OIS VAV GVZE IR ?
A) SRTT B) mons3
C) qomes & &3 & D) 3ednexa

-15-



097/23 - K

44.

45.

46.

47.

48.

What are the naturally occurring isotopes of carbon ?
A) '?C and 'C B) *c and *C
c) "'cand C D) '¥C and '*C

The hypothetical temperature at which gases are supposed to occupy zero volume
is called absolute zero. This is according to which of the following gas law ?

A) Charles’ law B) Gay Lussac’s law
C) Boyle’s law D) Avogadro law

Give the conjugate acid-base pair of HSO, .

A) H,SO, and SO, B) H,SO, and SO
C) H,SO, and SO%- D) HSO, and SO,
Which of the following is not matched correctly ?

A) Uttaraswayamvaram — lrayimman Thampi

B) Kalyanasaugandhikam —  Kottayam Thampuran

C) Seethaswayamvaram —  Kottarakkara Thampuran

D) Dakshayagam — Unnayi Warrier

Which of the following are true about Mohiniyattam ?
i. Mohiniyattam follows the style of lasya.
ii. Reference of Mohiniyattam can be found in the text Vyavaharamala.
iii. Chollukettu in Mohiniyattam is structured by Vadivelu.

iv. Kanak Rele is a key person in the revival and popularisation of Mohiniyattam.

A) Onlyiandii B) Only ii and iii
C) Only i, iiand iv D) All the above
49. Which of the following is matched correctly ?
A) Mayookha Johny — Badminton
B) Jimmy George —  Volleyball
C) Raja Venkataraman — Basketball
D) Dinesh Nayak — Kabaddi
50. Which of the following film is not directed by Satyajith Ray ?
A) Jalasagar B) Charulata
C) Ek Din Pratidin D) Nayak
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?gﬁﬂr%mﬂ TOYWNROT QOMOOT 20RRCLIRCTNT CCNR)ER) ?
A) 12C 5333 14C B) 1SC 5.333 14C
C) o) =02 126 D) 124 =02 135

BAONH BRT; TOBIEITIY mé&:bgd ROT PREITINTOT FOV VT TITIINTRS), AT
BR, 0T TTERMOTT. BT FENT 03N AL JOIWOT B,TTNS ?

A) Y ET Q0T B) rie ©omE's 0300
C) ¥recdFers 00 D) we3pmodn,e 20300
HSO, B 800308 & 2% -2ier® tineRodm) e,

A) H,SO, =2 SO, B) H,SO, = SO
C) H,SO, &0 SOi“ D) HSO, =23 SO,

BINTRNTS, 0B3RBT FOOTRN TRODFACIRINIIDY, ?
A) ©UZTIOIOBTHT - HITICWIT TO
B) 5@7@(289@,@7?0@6336 - “&raé,gjojoo BOR)TS®
C) aezoRod0omT=r - %faés%dséd S0RTH*
D) dgomm - emaj%om plelevelen

BReCITES 07 BOLORATIOZ B3 TYNT THEPINTY, 037 FOCIRNES ?
i. me%oaoja‘aégjo AT %@oﬁa@ ORORORZTT.
i. meao:oom%os erveie@&@abq B, BTHITBROD T, T, FoERWTIT.
ii. meao@m@gjos@q ai'ffawj&%ass% MRS dz%%a%d.
V. 335 3¢ Bped03Te3 0F PYTTOL ETT 0B W, CNZODY, T80 ;3

A) i 300 i BT, B) ii 020 iii &g,
C) i, i 0=0 iv B3R, D) &0cdT 2eEp
FINTZNTY, BRFTTY, FOOIRN ERCRBLINT ?

A) T000RT TR - 239, & 083’

B) 233 wwoeste - pISlAnlod

C) Toto R033T=0F° - mﬁé@?m@e

D) &3z So030sE - TR,

B3 FPNT 03N WOTUE, WY, 7,23 3e QFY 2
A) ROTNTE B) w@dowzw
C) &7° O ©,80%° D) Socds
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

If 60% of x — y equals 40% of x + y, then what percentage of x isy ?
A) 25% B) 20% C) 60% D) 45%

A man bought a cycle for Rs. 2,000, spends Rs. 250 for repairing and sells it at
10% loss. The selling price of the cycle (in Rs.) is

A) 2,025 B) 2,250 C) 2,000 D) 1,800

If 7" — 7" = 2058, then what is the value of n ?
A) 2 B) 4 C) 6 D) 8

The 25" term of the sequence 4, 9, 8, 18, 12, 27, 16, 36, ... is
A) 108 B) 112 C) 52 D) 76

A girl is riding her car at a speed of 25 m/s for 6 hrs. The distance (in Km) travelled
by her is
A) 540 B) 640 C) 740 D) 840

Find the one which does not belong to the group.
A) Cube B) Cuboid
C) Rectangular Pyramid D) Rectangular Prism

Abi is facing East. He turns 45° in the clockwise direction and then another 180° in
the anticlockwise direction then 90° in the clockwise direction. Which direction is he
facing now ?

A) South-East B) North-West

C) South-West D) North-East

The next term in the series 5, 19, 80, ... is
A) 440 B) 404 C) 201 D) 320

In a certain coding system, the word PERMUTATIONS is written as RGPKWVYRKQLQ.
Then in the same coding system COMBINATIONS is written as

A) DQLZJPYSKQLQ B) EQKZKPYRKQLQ
C) EQKZPKRYQKLQ D) DRZPRYZKEQLQ

If 1° February 2022 was Tuesday, then what was the day of the week on
14" November 2022 ?

A) Monday B) Tuesday
C) Wednesday D) Thursday
-18-
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X — Y030 60%33 X + Y03 40%3 ATRSTONTT, YOI XS R, Jeswomodd SN ?
A) 25% B) 20% C) 60% D) 45%

2%, aﬁaé . 2,000 %éagocda %6@6 DOCQITT. 93T 00PN TH. 250 D230F BIRRBTIO
2020 @css% 10% s:ﬁ BROTIV. %6@63 [N B (TR.NFA)
A) 2,025 B) 2,250 C) 2,000 D) 1,800

7"— 7" =2058 ©NTTB, NS TP, DT, 2

A) 2 B) 4 C) 6 D) 8
4,9,8,18,12,27, 16, 36, .... 31 308,300 25503 023,03 SN
A) 108 B) 112 C) 52 D) 76

LWFO BOBIN B, 59T, 6 NOWNY 590 25 we. /X, FenTY, LRRITYY. 8¢ T, 08eRT
TRT (3.50e.1$9 )

A) 540 B) 640 C) 740 D) 840
ROoT 0T TSR, BOR.

A) 3R B) 3,239037,

C) 3030803900 TOT® D) ©0020503 &7

B DOWITRO FPWEF BNNT[REA T,IFFEeINA 45°, T, TERERN @ 180° morie 90°
B, T8 FS030RN STONOTS. &0 03N QI B2 BRRWIS ?

A) i} ecdd B) o0,

C) 308, D) &5303,

5,19, 80, .... 83 O30S, B0OWS 023,
A) 440 B) 404 C) 201 D) 320

2,000 E’DCBF?& Do3e3 wgwﬁ@ojae‘;n PERMUTATIONS @ouads;% RGPKWVYRKQLQ @00
wdoﬁammgd. e9g3e ZoFeS wa?wﬁ@ojoe;COMBlNATIONS @omd@t Tert LWTOFWIBIT ?

A) DQLZJPYSKQLQ B) EQKZKPYRKQLQ
C) EQKZPKRYQKLQ D) DRZPRYZKEQLQ

13 2,30 2022 BOon¥ewTmonsd, 145 S[ows® 20228030 CURES [TmN) ?
A) R0 B) &oon¢ses
C) w50 D) mocemed

-19-



097/23 - K

61.

62.

63.

64.

The proceedings under Code of Criminal Procedure for the collection of evidence

conducted by a Police Officer or by any person who is authorised by a Magistrate

is called
A) Inquiry B) Investigation
C) Judicial Proceeding D) Both A) and C)

Warrant-case means a case relating to an offence punishable with
A) death

B) imprisonment for life

C) imprisonment for a term exceeding two years

D) all the above

The Executive Magistrate can require a person to show cause why he should not
be ordered to execute a bond with sureties for his good behaviour if he habitually
commits any offence under

A) The Drugs and Cosmetics Act, 1940

B) The Employees Provident Fund [and Family Pension Fund] Act, 1952

C) The Essential Commodities Act, 1955

D) All the above

When a person commits sexual assault under the Protection of Children from Sexual
Offences Act, 2012, he shall be punished

A) With imprisonment of either description for a term which shall not be less than
three years but which may extend to five years, and shall also be liable to fine

B) With imprisonment of either description for a term which shall not be less than
two years but which may extend to five years, and shall also be liable to fine of
Rs. 10,000

C) With imprisonment of either description for a term which shall not be less than one
year but which may extend to five years, and shall also be liable to fine of
Rs. 5,000

D) With imprisonment for a term two years and shall also be liable to fine
-20-
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TPOCT® TIO 9T mézgﬁ@ewaocﬁ SOTT TET CIRITIe 80000 SERRT [T (N
ROT, BTN TOT 38,035 F0&E SRODYT )8, 030NFRY, Leriomd FERLRMITT
A) 2TH B) 3a3
C) @,0dmon 8,05 D) A) 302 C) «o@e

WOT0EF FeTF Q0TT T3 é@ﬁr @wmdi BOWORAT T)3TED
A) 20T
B) 23czomd ég
C) 2T IRFNAPN0T TP [N oD é@
D) &0cdT e

33 FYNT 0300 FoOTOD SRCNY. W wgé BTN BTOIG HINTY, 3?& xzscza‘rﬁﬁ
2TV CTINB RO LIDOT® FoO3F NBNAPRITOT OF eﬁdeéx% T32IOTTO 0TI FTED BRCOROT0S
TO0IF QeOF BT masz%ﬂ@ew &3 waéﬁ QTEESTLTITO 2

A) BREG 3080 APoT0RFREEBNRY 520008, 1940

B) o0tie ennie 3w, A6 [302) 30800% 200365 DY) Fo000T, 1952
C) wne, [N 5902083, 1955

D) &0cdT e

& ONT STTIHNP 0T WOFY FoTF o 5900033, 20128 &R0, 20y 33,3030 &0NT oW T WBI)
DRNTN, @535& B3 08N, éiﬁmrb@ﬁ

A) ToRTL BRENAPNOB TRFO AQYT, STT 2070 TRFNYETN DR OTLTITT LHHN DFTTOD
o, LITHTTRODN OB TOTE AT TRTMDTTIINSTT,

B) <0 SREAPNOZ TREOOWQT, SBT3 0030 TRFNFRTT 0T OFWTOTIT SN IZTTHOD
o, ©0RATRORN W02 Te. 10,000 ToBE I® BRBMITINTTTT).

C) 2.0 FIRFFOZT FRIOWYT, STWT T TRFNFITN LFOFWTBOTIT SB/HN DFTEROD
AmoRtiRon B2 de. 5,000 BowEE IT BRFBMOTINTTZR

D) 0@ SEFTYRSH e 53 03R00K w3y HomEs XE EREMOTNTIZRD
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65. Which of the following is incorrect with respect to recording of statement of a child
under Protection of Children from Sexual Offences Act, 2012 ?

A) The statement of the child shall be recorded at the residence of the child

B) The statement of the child as far as practicable be recorded by a woman police officer
not below the rank of sub-inspector

C) The police officer while recording the statement of the child shall be in uniform

D) The police officer shall ensure that the identity of the child is protected from the public
media

66. Punishment for identity theft is
A) Section 66 C of Information Technology Act, 2000
B) Section 378 of Indian Penal Code
C) Section 66 B of Information Technology Act, 2000
D) None of the above

67. An offence with three years imprisonment under Information Technology Act, 2000

shall be
A) Cognizable B) Bailable
C) Both A) and B) are correct D) None of the above

68. Which provision of Right to Information Act deals with disclosure of third party
information ?

A) Section 7 B) Section 10 C) Section 11 D) Section 12

69. Which of the following statement is correct with respect to Section 31A of Narcotic
Drugs and Psychotropic Substances Act, 1985 ?

A) Death penalty can be imposed for subsequent conviction in respect of commission
of an offence relating to production, manufacture of narcotic drugs or psychotropic
substances for specified quantities of certain narcotic drugs or psychotropic
substances

B) Death penalty can be imposed for subsequent conviction in respect of attempt
to commit or abetment of, or criminal conspiracy to commit an offence relating
to possession, transportation, import into India of narcotic drugs or psychotropic
substances for specified quantities of certain narcotic drugs or psychotropic
substances

C) Both A) and B) are correct

D) None of the above
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65. &,0NT BTTIFNLOT ms;; Ugm Fo0WT, 20123 ©&030E oo ﬁe@éoﬁaﬁg{ m@b@ﬁa@déﬁ
ROWORATIOZ B3 TYNT TEYINTY, 03I0YT0 STINT 2

A) BOTODT BewFosTY ©TT BOFeDYode DR

B) 0mos @egodds) AT et @Ot Fer 9T BT 0° WeirNog FREI0DQT @D
POeT® eﬁéﬁaaoﬁm%da m@)@%é@e@zﬁeﬁo

C) =z ée%oﬁaaﬁg{ ToDOROTIN TP L9HTO0TD xmw@de;pzﬁeﬁo

D) =oroRs rbdoés% ARTEBWIT WRFTOL0T dgxmﬁd QROT FPOCT® 50T0
mwsm%mgﬁm

66. NOTOST 6%35§¢ %M
A) TR&s 303,23 Fo0WT, 2000 T FEEF 66 C
B) 23008e030 Tow B0&30 ﬂﬁps 378
C) @& 30@23@25 Fo00T, 2000 T ﬁi&e 66 B
D) &0edT BnR)Te 8¢

67. 2w B 08,23 500003, 20003 R0, [T IRFNY 83 CR0DN STIITBIAT
A) NEFTHmoTE B) 2300000 TTEOIWTBOTOT
C) A) 23030 B) 2T@ER S003RNES D) &0eds dn)Ee 9e)

68. 380 BB FDOATIC OIRE VLIOFFFOTD BTSe 33,8 030 s0eS03T), WiTonTRAITIROOT
3, WHOROZT ?
A) 357 B) #3310 C) %3 11 D) %3 12
o o o o

69. BRTIFT,B;7E0 303 FBRCER, (T TP Fo000T3, 19858 AT ° 31A 1 HOWORATOZ &3
FSNT 0359 TBePFO30 BOCIRNT 2
A) STTIG QeFONT BI0STRP FOF) NINTT T, N0 e R BRCER, 0T BTN,
QOFR, T,BROTY, YT TT, TEROFONY, HFNT STTIFTN [ITEITOB 0T,
QPTTBOT)
B) @00t Qear 0T L80STegd 0, T, DOFR WRTIT 3,33 1Ed 55350 F AR, 6E
TTTENS mﬁeﬁé, TONOES3, mdéﬁs 30T maéfa@cﬁ%ésé VRNDTY FOWORAT @0333;{
LTI T ERCTIN G0 STOIRT LBRON TOWOHITOZ mdsacs’oc%oda@t QRRWTOT)
C) A) =022 B) 2T@Ee ZOC3RNES
D) 20¢d3 cdnm)me @,
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70. Punishment for consumption of any narcotic drug or psychotropic substance
A) Imprisonment for 3 months and fine of one lakh rupees

B) With rigorous imprisonment for a term which may extend to two years, or with fine
which may extend to twenty thousand rupees; or with both

C) With rigorous imprisonment for a term which may extend to one year, or with fine
which may extend to twenty thousand rupees; or with both

D) With rigorous imprisonment for a term which may extend to 6 months, or with fine
which may extend to ten thousand rupees; or with both

71. The original architects of social disorganization theory that explains the link between
neighbourhoods and crime are

A) Shaw and McKay

B) Lombroso, Ferri, Raffaeleo and Garofalo

C) Jeremy Bentham and Cesare Baccaria
D) None of the above

72. According to theory, repentance by the offender itself is a punishment.

A) Deterrent B) Expiatory

C) Retributive D) Preventive

73. In which of the following offences under the Indian Penal Code, 1860, ‘preparation’
is punishable ?
A) Dacoity B) Murder
C) Hurt D) Assault

74.

Any hurt which causes the sufferer to be during the span of days in severe
bodily pain, or unable to follow his ordinary pursuits, is designated as “grievous hurt”

under the Indian Penal Code, 1860.
A) Seven

B) Fourteen
C) Twenty

D) None of the above

75. Which among the following constitutes the offence of public nuisance under

Section 268 of the Indian Penal Code, 1860 ?

A) Air pollution B) Rash driving

C) Unlawful assembly D) None of the above
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CIRTYTE TRTT T3, T FBRCEIR, (T TOFFNY B3 éi

A) 3 8ong z%@aég WY 20T VT TRITWCWNY T

B) <0G SRS P ORWTITINE STHT TOED & COTORTILOOT &5 QB AT
CRTOWNIN LFORWIOTOT TOTE; BFHR0 DORR

C) 0T TRFNTBITT VFOFWTITIOT LBHN TOED B LITIRTRONN BP0 VB AT
CRTICLNST DT OTWTOTIT TOTRE; BT TRR

D) 6 30on¥=0n FORWTITIE BBHT TOED & LOIRTLONT L5 T AT
SRTOWNYTITN DFORWTOTOT TOTE; SFHR0 TR
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C) === D) 30093 cdnn)me @),

. B3 FINTRHNTE 03T 0T8e0% Tow Fo&e, 18600 ﬁﬁmae 2680 ©RONY TTFRIT

SROTTCD LTTITTTY, LIRRORT ?
A) F00TRIT, B) oo,& &, 0o
C) 3o300W&T &y D) &0cd3 cdnn)ae 8¢
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76.

77.

78.

79.

80.

Watching or capturing the image of a woman engaging in a private act in circumstances
where she would usually have the expectation of not being observed by any other
person, amounts to the offence of

A) Stalking B) Phishing
C) Voyeurism D) Sexual harassment

Under the provisions of the Kerala Police Act, 2011, the Police may make and keep

of any activity performed by them during the discharge of their duties and
such records may be used in any proceedings in which the correctness of Police
action is called in question.

A) Audio B) Video
C) Electronic records D) None of the above

Which of the following circumstance necessitates immediate police action to locate
a missing person ?

A) The person is in danger; or not under the protection of lawful guardianship
B) The person may be subjected to some dangerous offence

C) The person is absconding to prevent the implementation of a right declared by
court

D) All of the above

Who is empowered under the Kerala Police Act, 2011 to constitute Community
Contact Committees for each police station comprising the local residents of the
area as representatives of the community, to give general assistance to the Police
in the discharge of their duty ?

A) Station House Officer B) District Police Chief
C) State Police Chief D) District Magistrate

Which of the following statutes prescribe punishment for performing any sexual
gestures or acts degrading the dignity of women ?

A) The Indian Penal Code, 1860
B) The Kerala Police Act, 2011

C) Both A) and B)
D) None of the above
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RO, TN ABIREYTIe 33,8000 T MBOVAIEE, 02 LOET T TRODT BOTIFTY 2wy,
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3e0¥ PR ToWT, 2011 T RN, &) F8FE;, INFHHONY, FPAeTON TBRT,
A0, VETLO ABNTONT Ty SQONTN T, TeTT Fe0W QTRANTT) LHMR0RTIT T3
TROCT® T/ DT FOTTE RVSNTTY, TR 03RO BHTITHRY, moaw%d ?

A) ﬂweaias TR SeRT° B) R Zpdex’ m@agx@da

C) oow, Fpdex® msaéx@da D) w%mgw@ew

80. B3 FYNT 0303 FORRTONT CIRTIe & oNns xog NEH 50 R0&POIT FTRSN BOOT0

BATOBH Z,MON ST 0D QAT ?
A) 0TS0 ToE Fod&S, 1860
B) 309 pdex® 500003, 2011
C) A) =022 B) nY¥owEe
D) R0eds cdnmEe ey
27-



097/23 - K

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

Choose the correct preposition :
He has great proficiency English.

A) on B) in C) of D) at

The Manager discarded the needs of the workers. The synonym for discard is
A) accept B) remind C) reject D) immediate

The orator impressed the audience by his gift of the gab. The idiom gift of the gab
means

A) power of eloquence B) smile

C) facial expression D) qifts given to audience
Choose the correct verb :

The cattle grazing in the meadow.

A) has B) is C) are D) have

The feminine noun of “nephew” in the sentence “My nephew got admission in
Govt. College” is

A) Niece B) Heiress C) Mistress D) Nymph

The teacher said to the boy, “how old is your friend ?”” The indirect speech of this
sentence is

A) The teacher asked the boy how old is his friend.

B) The teacher said to the boy how old his friend is.

C) The teacher asked the boy whether old his friend is.
D) The teacher asked the boy how old his friend was.

The old lady claimed that her ancestors were rich. The antonym of “ancestor” is
A) descendents B) forefathers
C) predecessors D) antecedent

The passive voice of “Let him finish the work” is
A) Finish the work B) Please finish the work
C) Let the work be finished by him D) Finish the work please

The one word for “a person who tries to gain peoples favour by insincerely flattering
them and always agreeing with them” is

A) talisman B) sporadic
C) synopsis D) sycophant

Choose correct tense form :
I poems since lunch.

A) have been writing B) write
C) have writing D) has write
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